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—E2828HX AH 250& 6,000 x23] 3,000
—s=9 80,000& »200H 1,600
—UXESY 228 MHE 6,000& *500H 3,000
SEH(HUX =) 8,000 x4 602! 1,920
202 (4l 5,600 5,600 0
01 SLHOIYI 5,600 5,600 0
O0UXI Al &HR=& 20,0003 »4H 45 3,600
OFLHNUHINSsHEAMY FRFA
20,0003 »4H 25 2,000
FHUNS MUNSX (F2Y BHYZ 2SAL)(2H]) 540,000 532,000 8,000
2 270,000
[ia 270,000
401 Al HI K 201 I 540,000 532,000 8,000
= 270,000
s 270,000
01 A& HI 509,342 501,788 7,554
OZHIE= A 509,342
— S22 F2Y B2l EXBAH(T200
) 509,342,000 » 14! 509,342
= 270,000
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HHM: S 2N UHKX 22
SRl MUK B 22 (29l 8)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 239,342
02 2teld| 27,000 26,738 262
O32HEZAY 27,000
—SAZ HZE EHAFZEH EXZ2A
27,000,000 x 1Al 27,000
03 Al 24| 3,658 3,474 184
OZHIBEZAY 3,658
— 82 A= G HILZAEH EX3A
509,342,000 *0.718% 3,658
AMTHAAHHX ESALS 731,500 8,800 722,700
= 293,265
= 30,000
= 408,235
MM UK EH X2 19,800 8,800 11,000
201 gBt2Ad| 19,800 8,800 11,000
02 2%l 19,800 0 19,800
OXMTHMHHXI EH S X2l
110, 000& * 180kw 19,800
NEX (sHI)=HEH BHLEZEH EXAIY) 385,700 0 385,700
= 173,565
= 212,135
401 Al HI L 2 0HHI 385,700 0 385,700
= 173,565
= 212,135
01 A& H| 363,796 0 363,796
OZHIEZAY 363,796
— S HE BN & X AL (145kW)
363,796,000 « 1Al 363,796
2 173,565
= 190,231
02 2eldl 19,284 0 19,284
O2HEBZAY 19,284
—SsYJ|sHE BI2AHH AXAY
19,284,000& » 1Al 19,284
03 A& 20| 2,620 0 2,620
OZHIEZAY 2,620
—sgJ|l=4dE EHXZ2EH EX ALY
363,796,000 *0.72% 2,620
NAXL (=4 M= B2 AH EXALY) 13,300 0 13,300
= 5,985
= 7,315
401 AlEHI 2L 2 0HY| 13,300 0 13,300
= 5,985
= 7,315
01 Al&H| 13,300 0 13,300




M LXelZ ot
3 288 U 2el

S ATHMUUEX E5 A (=& J)
(o
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OZHIEx= At 13,300
—F4 MEFLE BHEZHH XA (5kW)
13,300, 0002 14! 13,300
= 5,985
[ia 7,315
NAXNHA (=Sot=SL M2 E BHY2EH AXAY) 79,800 0 79,800
= 35,910
e 43,890
401 Al B2 28I 79,800 0 79,800
= 35,910
e 43,890
01 A& HI 75,068 0 75,068
O=HIEXZ ALY 75,068
~+SEH+EUHAS BHLBHY LXAL(3
OkW) 75,068,000 » 14! 75,068
= 35,910
s 39,158
02 Zeltl 3,990 0 3,990
O=BIEXZ ALY 3,990
—=Sot=S LMY HEFEH EXNAY
3,990,000 » 14 3,990
03 A& =TI 742 0 742
O=HIEXZAY 742
—=Sot=S2 Xl e LEH EXAY
75,068, 000& =0.988% 742
NNEXE(Ctot=S UM & Y2 HH EXAY) 93,100 0 93,100
= 41,895
s 51,205
401 AIEHIZ 28I 93,100 0 93,100
= 41,895
[ia 51,205
01 A& Bl 87,613 0 87,613
O=HIEXZ ALY 87,613
— oGt A B UMY EHYZ A &XAY(3
5kW) 87,613,000 » 14! 87,613
= 41,895
e 45,718
02 Zeltl 4,655 0 4,655
O=HIEXAY 4,655
—OtoGt=Z L M2l E HHYZEH XA
4,655,000& * 14| 4,655
03 Al =20 HI 832 0 832
OZ3HIEx= AL 832
—Otolot=S L M2 EHEZEH EXNAY
87,613,000& *0.949% 832
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NS (2752 P SXAY) 39,900 0 39,900
2 17,955
s 21,945
401 Al Bl 28I 39,900 0 39,900
2 17,955
i 21,945
01 A& Bl 37,905 0 37,905
O=3BIEXZ ALY 37,905
— S UE RS 2 B2 A XA (15kW)
37,905,000 » 14 37,905
= 17,955
[ia 19,950
02 Zeltl 1,995 0 1,995
O=HI 2 At 1,995
— HYS TP HYBLY X AL
1,995,000& 14 1,995
NAXNHA(HARA B2 HEH dXALS) 39,900 0 39,900
= 17,955
= 21,945
401 AIEHIZ 28I 39,900 0 39,900
= 17,955
s 21,945
01 A& Hl 37,905 0 37,905
O=HIEXZ ALY 37,905
—HAIRA B2 A & XA (15kW)
37,905,000 » 14! 37,905
= 17,955
e 19,950
02 Zeltl 1,995 0 1,995
O=HIEXAY 1,995
— HAIRA BHEZ2EH EXAY
1,995,000& 14 1,995
ZAS US ALNUN 23 AL 60,000 0 60,000
< 30,000
[ia 30,000
402 RI2HXt20l ™ 60,000 0 60,000
< 30,000
s 30,000
02 2IZt 2 AL EZ (OIS ) 60,000 0 60,000
OEHIEZAY 60,000
— A S A2 ATHYNUX ESXJAMY
400, 000& *150kw 60,000
< 30,000
e 30,000
MWEEs 708,889 890, 160 A 181,271
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Bu: REs
S WEAHAHX = (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEAHHX = 708,889 890, 160 A 181,271
HEHAH X = 708,889 890, 160 A 181,271
701 JIEtSI HENMES 708,889 890, 160 A 181,271
01 JIEtl HEES 708,889 890, 160 A 181,271
Os3sHIxd S8 d&=2
320,629,000 320,629
OZgHe EL83H d&=3 388,260,000 388,260
2xtel E& 24,600 24,100 500
2 el &= 24,600 24,100 500
SR 228 HH 24,600 24,100 500
101 @124l 11,600 9,600 2,000
03 RIHAZ 2 E+ 11,600 9,600 2,000
OSRAZZI H&XAS Kl
80,0003 x145& 13| 11,600
201 Let24d] 8,500 10,000 A 1,500
01 At 22l 8,500 8,000 500
OZf& tHlnyg 249l 80,000& x103l 800
ONILFA /= 400,000& 123 4,800
OoZ22x2 & J1gs 7¢
20,0003 145« 13| 2,900
202 odl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
OLszxstge =% 3,000
—dTCAMES HXIO0E, F 38 S
60,0003 x2& 253 3,000
203 YR =&l 1,500 1,500 0
03 AIMHF=XH R =AH| 1,500 1,500 0
OLsSxggs =2l 1,500
—22gs, F3s5 S 300,000& x53] 1,500
HY2HZH (LXelZ M) 80,310 82,560 A2,250
JlE&dl 80,310 82,560 A 2,250
JlE2&l 80,310 82,560 A 2,250
201 et 39,990 39,540 450
01 At 22l 39,990 39,540 450
ORNEA 1,831,000& »18H 32,958
O= &l 3,600
— E20altl 8,000& x18H 25 3,600
O=SAI Lt 3,432
—Z = A 286,000& 1CH 123 3,432
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202 Od4dl 36,720 39,420 22,700
01 = LH 4 Hl 36,720 39,420 A2,700
O2tLH o HI 120,000& «18H «12& 25,920
O&2 ™o dl 75,0003 x18H 8L 10,800
203 YR =&l 3,600 3,600 0
04 FEXNSEHE=LH| 3,600 3,600 0
OFRN2IYS =2 300,000& »12& 3,600
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